THMSHF IR EXERZEITBRHMEEH
#B H B

ANHETEHE (B OFIEIZHOWT (HE)

T EE & | BET = B 1 SHIINEARE Ofh T

T & 5 | AR EN

T F= M 2| @BELIE, BN LE, e LE F—X
e B 1 R|SM6F1A31H

T & i #|] 145, 522, 300M

WK 4& %[ 145, 508, 000

SifipEd4 THS®E1 8 &
K oM F | SeERk st
RFEEGER BT He=

2K G B REBRAL (FREES D

oW HFE H H | SM5F2H20H

W
=
o
o

13




- bl :
£ -'Jﬂl?% ; -@’
; %’

R o ,-:.1:',- i
. e

. %%x

ST R ’
o oy F o
R S s
ks %, P ;
P b,
L e,
e %, B T
Gl i
# A e M -
£
i # “
e
a2 A 3R
’
-
o,

":\?

0X-%

ﬁl_L IE 0 50 100 200m
I

BXT7/\— MERMEMRT Dth TE

-2 -

iip




REFEEE | EEIIacTa—kVE— | [

HEES - REH } R

BIBRRR

5, 600
=
=

- fmf
5%

0 2 10 20m

BXT7/\— MERM =R T Dfth TE

-3 -

i)




\— MESEMHEMR T OIS

-4 -

Fokes

; ELIEE
MBER(E : / METU—=2» JU—-LHH
M II VAR A i
1
_ [T O
| >~ CIC I e eI v C O e e .
I | T mﬂﬂrw A
| > [ O AN .
i — A
| > IIl | N |
S AP e
Ul | i T
MEMEER L MiEEEHER
BETU-2+ JL-h#i
e XY
FE MmEX Al i

(e

yiil

/—ELBM
s
AN
L= L
i |
l WETL-2
i SIS
115
FEE 31

01 10m

| E—



Tt

N

. -, . . . .
F m | Sl §
> | S<zm | wmE | pE | wes F@”é '
B 11 TN—F m:l : | : I : ,dJ 43
meg1 R Lo sz L1 BT — ||/J N2
3 ﬁ IJiEl ES DDHHRK; 5 : L : ¥ L : : E@ 1] [_] o
{1/ 5 gg I 1
[©
Y SN ES 1 g RE= e T
_ St N RS _ -
ﬂﬁﬁ%%ﬁ’é&%ﬁa&T ] g f TERESD
: | @L | n n 1 | M} : :
[ T b O — / . S [ 1
| . v .
] 2 \ = 2 ——
\ \ m KBTS
WETL-2 i
IV i
T
oy

BXT7/\— MERM =R T Dfth TE

-5 -

iy




/%Kﬂ@
f\/\//\/W

Il
[=]

N L I /‘1
R ER 1 | " ' L ' H | LJ " ' L ' H | LJ = | " L] REELD
P IE

\; N
fokeais— — g U—2  JU—LHix G
N f3]

S8 - TEmS

2EYEX

BXT7/N\— MSEMREMHRT DTS

-6 -

yiil




- 5
=
o
s
. [{=)
"4 _
n,//l..l “s/“ \\
II 7
ﬁ MJJ N + [
_” \3.: e ap)
L
i -
_ 1
EEN \
i
[ | |
[— 1 T 7
Wn" “ L _\
= _ /
EX N
L -
i -
EEVAEREE
i
[— | |
—.P." I T 7
= |
7
ﬁj
— H— L
\= /
M
— %
®
N

5

foke

METL =2+ IU- L%

4 FE B

LJ

L

LJ

N

|

Faﬁﬁ&tTETS‘FI‘

L

5

Fke

MEIU— » IU- LR

N

MiE#E

10m

1

0

SkEYEX

BEX7/N\— MERMEHRTOMIE



BEETIN—

MBI EHRT DTS

-8 -

yi

™~ _
L] Y N 54 / . oo
BLIKE /N e N e .
[ I
5
e B Lkl
T NS N R
= || e CTE T T T T TR TT TG T e
: oy f= LY e = 458 054
mzju 2+ IU-LifE Wkans
N {5
R 1 TEwS
S5EFEN 0 1 5 10m
| I |



